Vibration Mechanics Hw #7

(Continuous Systems)

Issued: May 26, 2023 Due: June 12, 2023

1. Rao P. 8.5

8.5 At
$$x=0$$
: $P \frac{\partial \omega}{\partial x} = m \frac{\partial^2 \omega}{\partial t^2}$ (E1)

At $x=L$: $P \frac{\partial \omega}{\partial x} = -k \omega$ (E2)

General solution is

 $\omega(x,t) = W(x) \cdot T(t) = \left(A \cos \frac{\omega x}{c} + B \sin \frac{\omega x}{c}\right) \left(C \cos \omega t + D \sin \omega t\right)$

Equations (E1) and (E3) give:

$$\left\{P\left(-A \frac{\omega}{c} \sin \frac{\omega x}{c} + B \frac{\omega}{c} \cos \frac{\omega x}{c}\right) \left(C \cos \omega t + D \sin \omega t\right)\right\} = -m \omega^2 \left(A \cos \frac{\omega x}{c} + B \sin \frac{\omega x}{c}\right) \left(C \cos \omega t + D \sin \omega t\right)$$

i.e., $A \left(m \omega^2\right) + B \left(\frac{P \omega}{c}\right) = 0$ (E4)

Egs. (E₂) and (E₃) yield
$$P\left(-\frac{\omega}{c}A\sin\frac{\omega l}{c} + B\frac{\omega}{c}\cos\frac{\omega l}{c}\right) = -k\left(A\cos\frac{\omega l}{c} + B\sin\frac{\omega l}{c}\right)$$
i.e.,
$$A\left(-\frac{p\omega}{c}\sin\frac{\omega l}{c} + k\cos\frac{\omega l}{c}\right) + B\left(\frac{p\omega}{c}\cos\frac{\omega l}{c} + k\sin\frac{\omega l}{c}\right) = 0 \quad \text{(Ef)}$$
Egs. (E₄) and (E₅) give the frequency equation:
$$\left(m\omega^{2}\right) \qquad \qquad \left(p\omega/c\right)$$

$$\left(-\frac{p\omega}{c}\sin\frac{\omega l}{c} + k\cos\frac{\omega l}{c}\right) \qquad \left(\frac{p\omega}{c}\cos\frac{\omega l}{c} + k\sin\frac{\omega l}{c}\right) = 0$$
which, upon simplification, becomes
$$\tan\alpha = \left\{\frac{p\kappa - \left(\frac{pmc^{2}}{l^{2}}\right)\alpha^{2}}{\left(\frac{c^{2}m\kappa}{l}\right)\alpha + \left(\frac{p^{2}c}{l^{2}}\right)\alpha^{2}}\right\} \qquad \text{(E5)}$$

$$\begin{array}{lll} \hline 8.10 \\ \hline \\ U_{n} = \frac{n \, \epsilon \, \pi}{L} = \frac{n \, \pi}{\ell} \, \sqrt{\frac{P}{f}} \\ \hline For & \omega_{4} \leq 20 \, (2 \, \mathrm{T}) \, \mathrm{rad/sec} \,, & 4 \, \pi \, \sqrt{\frac{P}{f}} \leq 40 \, \mathrm{T} \\ \hline i.e., & P \leq 35 \, 560 \times 10^{8} \, \mathrm{N} \\ \hline \\ Let & the permissible (yield) stress of the material be 300 MPa = $3 \times 10^{8} \, \mathrm{N/m^{2}} \,. \end{array}$$$

Assuming the diameter of cable as 0.1 m, area of cross-section is $\frac{\pi}{4}(0.1)^2 = 0.007854 \text{ m}^2$, and the permissible tension (with factor of safety of one) is $(0.007854)(3\times10^8) = 2,356,200 \text{ N}$ i. Trifial tension = $2.3562\times10^6 \text{ N}$

3. Rao P. 8.17 (a)

$$8.17 \quad (a) \quad u(x,t) = \left(A \text{ is } \frac{\omega x}{c} + B \text{ sin } \frac{\omega x}{c} \right) \left(C \text{ is } \omega t + D \text{ sin } \omega t \right)$$

$$At \quad x = 0: \quad M_1 \frac{\partial^2 u}{\partial t^2} = AE \frac{\partial u}{\partial x}$$

$$-\omega^2 M_1 A = AE \frac{\omega}{c} B \Rightarrow B = -\left(\frac{\omega M_1 c}{AE} \right) A$$

$$At \quad x = l: \quad M_2 \frac{\partial^2 u}{\partial t^2} = -AE \frac{\partial u}{\partial x}$$

$$-\omega^2 M_2 \left(A \text{ is } \frac{\omega l}{c} + B \text{ sin } \frac{\omega l}{c} \right) = -AE \frac{\omega}{c} \left(-A \text{ sin } \frac{\omega l}{c} + B \text{ is } \frac{\omega l}{c} \right)$$
i.e.
$$A \left(-\omega^2 M_2 \cos \frac{\omega l}{c} - AE \frac{\omega}{c} \sin \frac{\omega l}{c} \right) = B \left(-AE \frac{\omega}{c} \cos \frac{\omega l}{c} + \omega^2 M_2 \sin \frac{\omega l}{c} \right)$$
i.e.
$$\omega^2 M_2 \cos \frac{\omega l}{c} + AE \frac{\omega}{c} \sin \frac{\omega l}{c} + \frac{\omega}{AE} \left(-\omega^2 M_2 \sin \frac{\omega l}{c} + AE \frac{\omega}{c} \cos \frac{\omega l}{c} \right) = 0$$
This is the greenercy equation.

(8.22) Consider half the shaft and half the disc. $\theta(x,t) = (A \cos \frac{\omega x}{C} + B \sin \frac{\omega x}{C})(C \cos \omega t + D \sin \omega t)$ $\theta(x,t) = 0 \Rightarrow A = 0$ $GJ \frac{\partial \theta}{\partial x}(\frac{1}{2},t) = -\frac{J_0}{2} \frac{\partial^2 \theta}{\partial t^2}(\frac{1}{2},t)$ $\Rightarrow GJ \frac{\omega}{C} \cdot B \cos \frac{\omega x}{2C} = \frac{J_0}{2} \frac{\omega^2}{2} \cdot B \sin \frac{\omega x}{2C}$ $\Rightarrow \tan \frac{\omega x}{2C} = \frac{2GJ}{J_0\omega c} = \frac{2C}{\omega x} \cdot \frac{GJL}{J_0c^2}$ Frequency equation: $\alpha \tan \alpha = \beta \text{ where } \alpha = \frac{\omega x}{2C} \text{ and } \beta = \frac{GJL}{J_0c^2}$ $U_n = \frac{2\alpha_n c}{L} \text{ and } 0$ $\theta(x,t) = \sum_{n=1}^{\infty} \sin \frac{\omega_n x}{C} (C_n \cos \omega_n t + D_n \sin \omega_n t) - \cdots (E_1)$ $\theta(x,0) = \sum_{n=1}^{\infty} \sin \frac{\omega_n x}{C} (C_n) = 0 \Rightarrow C_n = 0 - \cdots (E_2)$

$$\dot{\theta}(x,o) = \sum_{n=1}^{\infty} \sin \frac{\omega_n x}{c} \left(\omega_n D_n \right) = \frac{2 \dot{\theta}_o x}{l} \qquad ---- (E_3)$$

$$as \quad \dot{\theta} \left| \underline{l}_z, t = 0 \right| = \dot{\theta}_o \quad \text{and hence} \quad \dot{\theta}(x,o) = \frac{2 \dot{\theta}_o x}{l}$$

$$\text{Multiply Eq.}(E_3) \quad \text{by } \sin \frac{\omega_n x}{c} \quad \text{and integrate from o to} \quad \frac{\pi c}{2\omega_n} :$$

$$\omega_n D_n \int_0^{\left(\frac{\pi c}{2\omega_n}\right)} \sin^2 \frac{\omega_n x}{c} \, dx = \frac{2 \dot{\theta}_o}{l} \int_0^{\left(\frac{\pi c}{2\omega_n}\right)} x \sin \frac{\omega_n x}{c} \, dx \quad (E_4)$$
i.e.,
$$D_n = \frac{8 c \dot{\theta}_o}{\pi l \omega_n^2} \qquad (E_5)$$

$$\therefore \quad \theta(z,t) = \sum_{n=1}^{\infty} \left(\frac{8c \, \dot{\theta}_o}{\pi \ell \, \omega_n^2} \right) \sin \frac{\omega_n z}{c} \sin \omega_n t \qquad (E_6)$$

Setting the determinant of the coefficient matrix of C_3 and C_4 in (E_1) and (E_2) to zero, we get the frequency equation $-(\sin\beta l + \sinh\beta l)^2 + (\sin\beta l - \sinh\beta l)^2 = 0$ or $\sin\beta l \, \sinh\beta l = 0$

Since $\sinh \beta l \neq 0$, the frequency equation becomes

$$\sin \beta l = 0$$

 $\therefore \beta_n l = n\pi$; $\omega_n = \frac{n^2 \pi^2}{l^2} \sqrt{\frac{E I}{g A}}$; $n = 1, 2, ...$